
Old Leg Old/New New Leg Old Leg Old/New New Leg Old Leg Old/New New Leg

DMX-101 DMX-1T DMX-001 DMX-104 DMX-4 DMX-004 DMX-106 DMX-6 DMX-006
DMX-A-120 DMX-A-126 DMX-A-130
DMX-B-120 DMX-B-126 DMX-B-130
DMX-A-121 DMX-A-127 DMX-A-131
DMX-B-121 DMX-B-127 DMX-B-131
DMX-A-122 DMX-A-128 990048 CBS-6 997048
DMX-B-122 DMX-B-128
DMX-138 990042 CBS-4 997042

DMX-102 DMX-2 DMX-002 DMX-4S DMX-4S DMX-04S
DMX-A-123 DMX-A-144 DMX-107 DMX-7 DMX-007
DMX-B-123 DMX-B-144 DMX-A-132
DMX-A-124 DMX-B-132
DMX-B-124 DMX-A-133

DMX-B-133
DMX-2S DMX-2S DMX-002S DMX-105 DMX-5 DMX-005 990051 CBS-7 997051

DMX-A-2S DMX-A-128
DMX-B-2S DMX-B-128

DMX-A-129
DMX-103 DMX-3 DMX-003 DMX-B-129 DMX-108 DMX-8 DMX-008

DMX-A-124 990045 CBS-5 997045 DMX-A-134
DMX-B-124 DMX-B-134
DMX-A-125 DMX-A-135
DMX-B-125 DMX-5S DMX-5S DMX-05S DMX-B-135
DMX-A-126 DMX-A-145 DMX-A-136
DMX-B-126 DMX-B-145 DMX-B-136

990039 CBS-3 997039 990054 CBS-8 997054

DMX-1T .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   6 EACH OF 3/8" X 5/8" BOLTS
DMX-2.  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   6 EACH OF 3/8" X 5/8" BOLTS
DMX-3.  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   6 EACH OF 1/2" X 3/4" BOLTS
DMX-4.  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   6 EACH OF 1/2" X 3/4" BOLTS
DMX-5.  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   6 EACH OF 1/2" X 3/4" BOLTS
DMX-6.  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   6 EACH OF 1/2" X 3/4" BOLTS
DMX-7.  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   6 EACH OF 1/2" X 3/4" BOLTS
DMX-8.  .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   .   6 EACH OF 1/2" X 3/4" BOLTS

3/8" - 16 BOLTS  TORQUE TO:  25FT*LB

1/2" - 13 BOLTS  TORQUE TO:  60FT*LB

HARDWARE PER TOWER SECTION

TOWER SECTION IDENTIFICATION

DMX BASE STUBS DO NOT COME WITH HARDWARE

TORQUE SPECS

11/9/2009


